Which is bigger,  



To Nrich - Answer by Rajeev

They have come to different conclusions because up to a certain number n+10 is greater than 2n+3. To work out when they will both be the same we expand the expressions, so we get n+n+3= n+10. If we cancel it we get n+3=10 so n=7. So n+10 is bigger than 2n+3 when n < 7. When n is greater than 7 the expression 2n +3 is greater than n=10. For e g when n=12 the expression 2n+3 = 27 and the expression n+10=22.

For e.g. if n=5 the expression n+10 would equal 15 and the expression 2n+3=13.

2n+7 and 4n+11
Answer:2n+7 is bigger than 4n+11 when n<-2. I found that by expanding and then simplified the expressions (n+n+7=n+n+n+n+11) I got -4=2n. So -2 =n

For e.g. if n=-10 the expression 2n+7 would be -13 and the expression 4n+11=-29. 

 When n is greater than -2 the expression 4n+11 is greater than 2n+7.

2(3n+4) and 3(2n+4)
Answer: 6n+12 is always bigger by 4 more because if n =11 the expression 2(3n+4) =74 and the expression 3(2n+4) = 78. The expression 6n+12is always greater than 6n+8 because the number of n’s are the same however the integers are different so in this case the bigger the integers in the expression the bigger the output of the expression is.

2(3n+3) and 3(2n+2)

Answer: The expression 2(3n+3) is the same as 3(2n+2) because when expanded the equation is 6n+6=6n+6.
